B Bl m @ B m £l _ m_ n

NOTE: 305/8 DIMENS!ON, IF UPON ASS'Y. THE CYCLIC SHAFT P/N E14-3210 IS TOC LONG,
TRIM ENDS,MAKING SURE TO KEEP BOTH BUSHINGS P/N E14-3320 EQUAL DISTANCE

FROM END OF SHAFT. BRACKET E14-3251 SHOULD NOT BE TACK WELDED TO SHAFT SHOWN IN FL AT
UNTIL PROPER LENGTH IS ESTABLISHED.

30% \

J, o ‘i 6%e
—(( LS

ELD BOTH SIDES 2 PLCS.

G 4
7/ 2—-.-L-

TYP.

s | % TYP.
2 PLCS. ;

SHOWN IN FLAT

SECTION A—A
7-C6

=
t+ ﬁ lmng—‘——‘-— C
e |
| i
— ] ADD SAFETY WIRE
TYP. BOTH ENDS
T F
FT CY
' <STOPS__ 10 52°
IMPORTANT
REF —
NO. PART NO. PART NAME QTY.
k1% ! 5/16-24 NE RH ' E
H - g . 1. El14-5200 CYCLIC CLEVIS. ... i iiteeeeeeacoscscnnsannas 2
. 2% 15% —\ 3 YR, o TAPE o THROUGH 2. EO00-2402 BOLT 1/4 X L...oueueueunenanananns . 6
; ] : 3. E00-2501 BOLT 5/16 X 1/2 DRILLED HEAD.............. 2
A 4. E00-2414 BOLT 1/4 X 2-3/8. .. uuuiiiiinaeuunannnnnn 2
: T = R —— 516 &4 N RH. 5. E00-2510 BOLT 5/16 X 1-1/4. - eeeuuneeunnearns ....3
— -qé;————- — ———-—'795— - —— —_— -}>— T TS ey A4 6. E00-2507 BOLT 5/16 X L.oeuuuuuunnnenneeeneennnnennns 1
R - s [ — 4 7. E00-2305 BOLT 3/16 X 1-1/8...cuueuvennnnnnnnn Ceeaee 2
¢ 8. EO00-2308 BOLT 3/16 X 1-5/8. . ceueneneeenannnnnanaia2
MATCH DRILL 316 DIA. 9. E14-1241 KYLON BUSHING. .. - ueuueuunnneeeeerennnnnnnns 4
N BOTH ENDS 10. E14-1150 5/16 MALE ROD END.....:.cc.... eeeccearasens 6
BOLT 11. E14-6130 CYCLIC CONTROL ROD END PLUG.......ccc0.u.x 2
' ¢ PLCS. 12. E14-3310 DUAL LATERAL SHAFT 3/4 X .065 ALUM........ 1
13. E14-3200 CYCLIC STICK 7/8 X 14" PREBENT............ 2
14. E14-6201 CYCLIC BANDLE. -« c o v v vvvunnnneeeaaaaneens 2
15. E14-3210 CYCLIC CROSS SHAFT. . . .eeuuueeeeeeaeencanns 1
16. E14-3231 LATERAL CABLE BRACKET (FROM E14-3220)..... 1
/ : 17. E14-3251 FORE & AFT CYCLIC BRACKET (FROM E14-3220).1
: , : 18. E14-3220 FORE & AFT CABLE BRACKET........c0ueeennn. 1
SHOWN IN FLAT : 19. E14-3320 BUSHING 3/8 X .088..uuuuuueeenennnnennnnns 2 :Ej
_ : 20. E14-6120 CYCLIC CABLE CONTROL ™F"........cceeeven.. 4
21. E14-6131 CROSS SHAFT MOUNT BUSHING......... eaneanas 2
22. E14-1190 NYLON PIVOT BUSHING. ..cvvvuuueeeeaseeannnn 2
ROTCORWAY [ TERNATIONAL
PHGOENI X , ARIZONA
W’NONE APPROVEDBY: B DRAWN BY R,M.M,
oare: 2 - 1- G} /‘;,v /fﬂ REVISED
: -
' : : , o CYCLIC CONTROL ;
. , —~ e i gy g e - , y ~ " o~ . PRAWING NUMBER
NQOTE :CroLC CONTROL BRACKETRY PR iE0 FULL SIZE ON GUMMED LABELS | E1d —2000
24X36 PRINTED ON NO. 1000H CLEAXORINT




